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local xvar CashFlow InvOpp Size

xtreg ‘yvar' ‘xzvar' if orgtype == "As", fe r
putexcel set "“filename'", sheet (AS base) modify
matrix AS_base = r(table)

putexcel Bl0 = matrix(AS base), names
putexcel B4=("Number of obs") C4=(e (N))
putexcel B5=("F") Ch=(e(F))
putexcel B6=("Prob > F") Co=(Ftail (e (df m), e(df r), e(F)})
putexcel B7=("R-sqguared") CT=(e(r2)) - -

putexcel B8=("Adj R-squared") C8=(e(r2_a))

xtreg ‘yvar' ‘zvar' if matched == "matched private", fe r
putexcel set "“filename'", sheet(matched_base) modify
matrix matched_base = r(table)

putexcel B10 = matrix(matched base), names
putexcel B4=("Number of obs") Cd={e (N} )

putexcel BS5=("F") CS5=(e (F))
putexcel B6=("Prob > F") C6=(Ftail (e(df m), eldf r), e(F))
putexcel B7=("R-squared") CT=(e(r2))
putexcel B8=("Adj R-squared") C8=(e(r2 a))
xtreg ‘yvar' “xvar' if orgtype == "ASA", fe r

putexcel set " filename'", sheet (ASA base) modify
matrix ASA base = rl(table)

putexcel BIO = matrix (ASA base), names
putexcel B4=("Number of cbs") Cd=(e (N})
putexcel B5=("F") Ch=(e (F})
putexcel B6=("Prob > F") Cé=(Ftail (e(df m), e(df r), e(F)))
putexcel B7=("R-squared") CT7=({e(r2))
putexcel B8=("Adj R-squared") C8=(e(r2_a))

* Baseline model - public dummy - full sample
gen public = (orgtype == "ASA")

local yvar d.CashHoldings
local xvar public CashFlow InvOpp Size ///
c.CashFlow#i.public c.InvOpp#public c.Size#i.public

xtreg “yvar' ‘“xvar', fe k

putexcel set " filename'", sheet(base dummy full) modify

matrix base dummy full = r(table)

putexcel Bl0 = matrix(base dummy full), names
putexcel B4=("Number of obs") C4=(e(N))
putexcel B5=("F") CS5=(e (F))
putexcel B6=("Prob > F") Co=(Ftail(e(df_m), e(df_r), =(F))
putexcel B7=("R-squared") C7={e(r2))

putexcel B8=("Ad] R-squared") C8=(e(r2 a))

* Baseline model - public dummy - matched sample

gen public m =

replace public m = 1 if matched == "matched public”
replace public m = 0 if matched == "matched private"

local yvar d.CashHoldings
lecal xvar public m CashFlow InvOpp Size ///
c.CashFlow#i.public m c.InvOpp#public m c.Size#i.public

xtreg ‘yvar' ‘xvar', fe r

putexcel set " filename'", sheet (base dummy match) modify

matrix base dummy match = r(table)

putexcel Bl0 = matrix(base dummy match), names
putexcel B4=("Number of obs") Ci={e (N))
putexcel B5=("F") Cs={e(F))
putexcel Bé=("Procb > F") Cé=(Ftail (e(df m), e(df r), e(F)))
putexcel B7=("R-squared") CT7=(e(r2}))
putexcel B8=("Adj R-squared") C8=(e(r2 a))
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800 * Augmented model

201

202 local yvar d.CashHoldings

903 lecal zvar CashFlow InvOpp Size Expenditures d.NWC d.ShortDebt

904

905 xtreg ‘yvar' ‘xzvar' if orgtype == "AS", fe r

906 putexcel set "filename'", sheet (AS_aug) modify

S07 matrix AS aug = r(table)

508 putexcel Bl0 = matrix (AS aug), names

909 putexcel Bd=( "Number of obs") Cd=(e (N))

910 putexcel B5=("F") Cs=(e(F))

911 putexcel B6=("Prob > F") Cé=(Ftail (e(df m), e(df r), e(F))
912 putexcel B7=("R-squared") C7=(e(r2))

913 putexcel B8=("Adj R-squared") C8=(e(r2 _a))

914

915 xtreg ‘yvar' ‘xzvar' if matched == "matched private", fe r
916 putexcel set " filename'", sheet (matched aug) modify
917 matrizx matched aug = ritable) -

918 putexcel B1l0 = matrix(matched aug), names

919 putexcel B4=("Number of ocbs") Cd=(e (N))

920 putexcel B5=("F") Ch={(e (F))

921 putexcel B6=("Prob > F") Cé=(Ftail (e(df m), e(df r), e(F)))
922 putexcel B7=("R-sguared") CTl=(e(r2))

923 putexcel B8=("Adj R-squared") C8=(e(r2 a))

924

925 xtreg "yvar' ‘xvar' if orgtype == "ASA", fe r

926 putexcel set ""filename'", sheet (ASA aug) modify

927 matrixz ASA aug = r(table)

928 putexcel B1l0 = matrix (ASA aug), names

929 putexcel B4=("Number of obs") Cd={e (N))

930 putexcel BS=("F") C5=(e (F))

o4 1. putexcel B6=("Prob > F") C6=(Ftail (e(df m), el(df r), e(F}})
932 putexcel B7=("R-squared") Cl=(e(r2))

933 putexcel B8=("Adj R-squared") c8=(e(r2 aj)

534

935

936 * Augmented model - public dummy - full sample

937 gen D NWC = d.NWC

938 gen D_ShortDebt = d.ShortDebt

939

940 local yvar d.CashHoldings

941 local xvar public CashFlow InvOpp Size Expenditures D NWC D ShortDebt ///

942 c.CashFlowlpublic c.InvOpp#public c.Sizeffpublic ///

943 c.Expenditurest#public c.D NWCHpublic c.D ShortDebtifpublic
944

945 xtreg ‘yvar' “xvar'; fe ¢

946 putexcel set " filename'", sheet(aug dummy full) modify

947 matrixz aug dummy full = r(table)

948 putexcel Bl0 = matrix(aug dummy full), names

949 putexcel B4=("Number of obs") Cd={e (N}))

950 putexcel B5=("F"} C5={e(F))

851 putexcel B6=("Prob > F") Cé=(Ftail(e(df m), e(df r), el(F)})
952 putexcel B7=("R-sgquared") CT={e(r2)) B .

953 putexcel B8=("Adj R-sguared") C8=(e(r2 a))

954

955

95¢ * Augmented model - matched dummy - matched sample
957 local yvar d.CashHoldings
958 local xvar public m CashFlow InvOpp Size Expenditures D NWC D ShortDebt ///

958 c.CashFlow#ipublic m c.InvOpp#public m c.Sizeffpublic m ///

260 c.Expenditures#public m c.D NWCH#public m c.D_ShortDebtfipublic m
961

962 xtreg ‘yvar' ‘xzvar', fe r

963 putexcel set "“filename'", sheet (aug dummy match) modify

964 matrix aug dummy match = r(table)

965 putexcel Bl0 = matrix(aug dummy match), names

%966 putexcel B4=("Number of obs") Cd=(e (N))

s67 putexcel B5=("F") Ch=(e (F))

968 putexcel B6=("Prob > F") C6=(Ftail (e(df m), e(df r), e(F)})
969 putexcel B7=("R-sguared") Cl={e(r2))

970 putexcel B8=("Adj R-squared") C8=(e(r2 a))

971

972

273

974
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975

976

977 hhkhhhhkdhkhbkhhdbhdhdbdrdhrhdhddhddrhbddrhbrdhbbdhhdb bt bddrdtrdhdrrddtdrrbdbrdrrtrrrdrhid
978 ok ENALYSES FOR H3 Fokk ok
979 O O S VO Y A S O O P
980

981 local filename "Data\Cutput files\Financial Crisis final.xlsx"

982

983 ** Generate dummy variables for each periocd

984

985 cap drop before during after

986 gen before = (yr < 2007) if !'missing(yr)

987 gen crisis = (yr == 2007 | yr == 2008) if !missing(yr)

988 gen after = (yr > 2008) if !'missing(yr)

989

990 ** Test the baseline model for all periods separately

991

292 local yvar d.CashHoldings
993 local xvar CashFlow InvOpp Size

994
995 local periods before crisis after
9986
997 foreach period of local periods|
998 xtreg ‘yvar' ‘xzvar' if "period' == 1 & orgtype == "ASA", fe r
299 putexcel set " filename'", sheet (base ‘period' ASA) modify
1000 matriz base ‘period' ASA = r(table) -
1001 putexcel Bl0 = matrix(base 'period' ASA), names
1002 putexcel B4=("Number of obs") Cd={e (N} )
1003 putexcel B5=("F") CS={e (F))
1004 putexcel B6=("Prob > F") c6=(Ftail (e(df m}, e(df r), e(F)))
1005 putexcel B7=("R-squared") CT7=(e(r2))
1006 putexcel B8=("Ad] R-squared") C8=(e (r2 a))
1007 }
1008
1008
1010 * Baseline model - crisis dummy - public and private
1011 local yvar d.CashHoldings
1012 leccal xzvar c.CashFlowl##ficrisis InvOpp c¢.InvOpp#crisis Size c.Size#crisis
1013
1014 xtreg ‘yvar' ‘xvar' if orgtype == "ASA", fe r
1015 putexcel set " filename'", sheet (base_crisis ASA) modify
1016 matrixz base crisis ASA = r(table)
1017 putexcel B1l0 = matrix(base crisis ASA), names
1018 putexcel B4=("Number of obs") Cd= (e (N))
LS putexcel B5=("F"}) Cs=({e (F))
1020 putexcel B6=("Prob > F") Cé6=(Ftail (e(df m), e(df r), el(F)})
1021 putexcel B7=("R-squared") C7={e(x2))
1022 putexcel B8=("Adj R-sguared") C8={e(r2 a))
1023
1024 xtreg ‘yvar' ‘xzvar' if orgtype == "AS", fe r
1025 putexcel set " filename'", sheet (base crisis AS) modify
1026 matrix base crisis AS = r(table)
1027 putexcel B1l0 = matrix(base crisis AS), names
1028 putexcel B4=("Number of obs") C4=(e (N}))
1029 putexcel B3=("F") Coh={e(F))
1030 putexcel B6=("Prob > F") C6=(Ftail (e(df m), eldf r), e(F)})
1031 putexcel B7=("R-squared") C7=(e(r2)) - -
1032 putexcel B8=("Adj R-sguared") C8=(e(r2 a))
1033
1034

1035 * Augmented model - crisis dummy - public and priwvate
1036 local yvar d.CashHoldings
1037 local xvar crisis CashFlow InvOpp Size Expenditures D NWC D ShortDebt ///

1038 c¢.CashFlow#crisis c.InvOpp#crisis c.Size#icrisis ///

1038 c.Expenditures#crisis c.D NWCHcrisis c.D ShortDebti#fcrisis
1040

1041 xtreg ‘yvar' ‘zvar' if orgtype == "ASA", fe r

1042 putexcel set " filename'", sheet (aug crisis ASA) modify

1043 matrix aug crisis ASA = r(table)

1044 putexcel Bl0 = matrix(aug crisis ASA), names

1045 putexcel B4=("Number of obs") C4={e (N))

1046 putexcel B5=("F") c5=(e(F})

1047 putexcel B6=("Prob > F") C6=(Ftail (e(df m), el(df r), el(F)})
1048 putexcel B7=("R-squared") Cl=(e(r2))

1049 putexcel B8=("Adj R-squared") c8=(e(r2 a))

1050

L5, xtreg ‘yvar' “xvar' if orgtype == "AS", fe r

1052 putexcel set " filename'", sheet(aug_crisis_AS) modify

1053 matrix aug crisis AS = r(table)

1054 putexcel B10 = mafrix(aug crisis AS), names

1055 putexcel Bd=("Number of cobs"] Cd=(e(N))

1056 putexcel B5=("F") Ci=(e (F))

1057 putexcel B6=("Prob > F") C6=(Ftail (e(df m), e(df r), e(F)))
1058 putexcel B7=("R-squared") c7=(e(r2)) - -
1059 putexcel B8=("Adj R-sguared") C8=(e(r2_a))

1060

1061

1062
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